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¥ Enable Axis1 £rn Control

staritregister(v0) M | [520 =l
bAB20-M529 be occupied
startDregister(v0) [0 ~| [120 =

D120-0129 be occupied
DZRMN [E1.] [S2]1[53] D] #pls™0.dinyE

Axisl Homespeed [S1] D
Axis] Creepzpeed [52] D
Axis1DogFoint[53] X |

AxlSersoderoPointCount [<0] |0
Axiz] Feturnbdode |[Forwardl |

Maximum Speed (D8156) 100000 pps

¥ Enable Axis? Zrn Control

staritregister(v1) [M | [530 =l
bAB30-M539 be occupied
startDregister(v1) [0 ~| [130 =

D130-0139 be occupied
DZRMN [E1.] [S2]1[53] [D] #pls™1.diny3

Axis Homespeed [51] D |1
AxisZ Creepopeed [52] D
AxisZDogPoint[53] X |

AxdSersoderoPointCount 1] |0
Axis?Feturnbdode |Forwardl - |

Maximum Speed (D8158) 100000 pps

Bias Speed (DA168) [100 pps Bias Speed (D&170) (100 pps
Acc {Dec. Time [D&164] [200 (rns) Acc {Dec. Time [D&166] [200 (rns)
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Axisl ZBRN

HomeSPD. ZHBBHEH
CreepSPD. %8 HEHHH
Busy Finish Slope Stan
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A B EHE[SFTI+[F1](M520)4H & — 2 > Axisl BHAAIE BL{EER

JREBL{EER - Busy fE/nE(M522)& ON

=1 HomeSPD. #i#fiz[D121,D120] 7] A Axis1 $%,2% 4T 2L (HomeSpeed) » A i S5 2 e
BB S < T BRI < f e

E M CreepSPD. figfiz[D123,D122] o] # A Axis1 = Z B 2R E (CreepSpeed) - 7 s P88 i ies
RIS = RS < 32767 pps

R BLERTSE T 0 Fih Finish #5R:0&(M527)& ON

FZ[SFTI+[F3](M523)4H & - A LIS EAEIFE LR - B EAPRE A ERPRIZLL -
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Axise BN

HomeSPD. ZHEHEHRHEH:
CreepSPD. ZHHEHRHH:
Busy Finish Slope Stan
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N HFZ[SFTH[F2](M530)4H &8 —2K » Axis2 Fta/R B8k

JFREEEERF - Busy 5716 (M532) & ON

i+ HomeSPD. fiifir[D131,D130] ] A Axis2 ¥ =T B % (HomeSpeed) » 1 -h i e sy
RN R < ITREIATE < fr R

EiHH CreepSPD. fi#{ir[D133,D132] ] A Axis2 = 2B % (CreepSpeed) » i 488 i fi s
Rl = TRETE < 32767 pps

& IFRBEERSE T SE T Finish R (M537)& ON
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